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QUESTION 1

What are three configuration steps are required to mount an NFS datastore in vSphere? (Choose three.) 

A. On virtual machines running Microsoft Windows, increase the value of the SCSI TimeoutValue paramater to allow
Windows to better tolerate delayed I/O resulting from path failover. 

B. Configure VMkernel Port Binding. 

C. On each ESXi host, configure a VMkernel Network port for NFS traffic. 

D. On the NFS server, configure an NFS volume and export it to be mounted on the ESXi hosts. 

E. If you plan to use Kerberos authentication with the NFS 4.1 datastore, configure the ESXi hosts for Kerberos
authentication. 

Correct Answer: CDE 

Reference: https://docs.vmware.com/en/VMware-
vSphere/6.0/com.vmware.vsphere.storage.doc/GUID9FE32DE2-148C-4441-A859-18B4CC24207C.html 

 

QUESTION 2

When specifying a trigger action for an Alarm Definition, what two alarm state changes are available to be triggered on?
(Choose two.) 

A. From normal to critical 

B. From critical to warning 

C. From critical to normal 

D. From normal to warning 

Correct Answer: BD 

 

QUESTION 3

Which type of network traffic is used for vSphere High Availability (HA) by default? 

A. Management network traffic 

B. iSCSI Port Binding network traffic 

C. vMotion network traffic 

D. VM Network traffic 

Correct Answer: A 

Reference: https://docs.vmware.com/en/VMware-vSphere/6.5/com.vmware.vsphere.avail.doc/GUIDB1906BCD-
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E538-4FFF-AAE9-5403FE253F38.html 

 

QUESTION 4

Which three options are available when applying a customization Specification to an existing virtual machine? (Choose
three.) 

A. Create a specification 

B. Import a specification 

C. Modify a specification 

D. Select an existing specification. 

E. Create a specification from an existing specification. 

Correct Answer: ABD 

Reference: https://docs.vmware.com/en/VMware-
vSphere/6.5/com.vmware.vsphere.vm_admin.doc/GUIDEB5F090E-723C-4470 B640-50B35D1EC016.html 

 

QUESTION 5

What are two valid methods to deploy an OVF template which consists of two or more VMs? (Choose two.) 

A. Deploy on the VMware vSphere Hypervisor. 

B. Deploy on a vSphere DRS enabled cluster. 

C. Deploy on a vSphere HA enabled cluster. 

D. Deploy on the standalone host connected to vCenter Server. 

Correct Answer: AB 
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